
 +1 760-591-7383   fxl.com

Replacement Parts 

STANDARD | PATH LIGHT | DS 3-TIER

ITEM DESCRIPTION CATALOG #

1 Screw, #10-24 x 37/ 10" 250011520000

2 Tier, Top –

3 Tier, Middle –

4 Lens 250011610000

5 Lamp, G4 Bi-Pin
See Lamp Chart,  

p. 137-139

6 Nut 250011510000

7 Socket Assembly 250011490000

8 Base, Tier –

9 Screw, #6-32 x ¾" 250011500000

10 Riser, Aluminum YYRXX*

11 Long Slot Spike (LSS) 250015840000

* YY = Riser height in inches, XX = Powder coat color code

8

9

11

7

3

2

4

6

10

1

5



FXLIT-027   A   4/20 +1 760-591-7383   fxl.com

Replacement Parts 

STANDARD | PATH LIGHT | DS 2-TIER

ITEM DESCRIPTION CATALOG #

1 Screw, #10-24 x 2" 250011550000

2 Tier, Top –

3 Lens 250011620000

4 Lamp, G4 Bi-Pin
See Lamp Chart,  

p. 137-139 

5 Nut 250011510000

6 Socket 250011490000

7 Base, Tier –

8 Screw, #6-32 x ¾" 250011500000

9 Riser,  Aluminum YYRXX*

10 Long Slot Spike (LSS) 250015840000

* YY = Riser height in inches, XX = Powder coat color code

7

3

8

2

9

10

1

4

6

5


